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27 EHipfaanadiie HFEIEHZ
FRXAHM3 A28(EHA) B2/ ARAALES KA 1R

1. Solve the initial value problem: (20%)
y'+y' —2y=0 y(0)=4 y'(0)=-5
2. Find the eigenvalues and the eigenvectors of the matrix A: (20%)
=5 2
A"[ 2 _2]
3. Find the Fourier series of the periodic function f(x): (20%)

fy s {_'I‘; i{f : Z; z; o ¥4 20 = L)

2
4. Find the integral §, gz—:-dz

(a) C is the closed path of the circle |z—1] =1 (10%)
(b) C is the closed path of the circle |z| = 3 (10%)
5. The autocorrelation function of a stationary process is defined as
Ry (1) = E[X(t+ D)X(D)]
A sinusoidal signal with random phase

X(t) = Acos(2nf.t + ©) where A the f. are constants and © is a random
variable with uniform distribution

fo(6) = {2z’ TTSO=T
0, elsewhere

Find the autocorrelation function of X(t) : (20%)



